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Arbitrageurs may be unable to exploit behavioral biases because
of . (I ) capital constraint (II) implementation costs (II)
fundamental risk (IV) low analyst coverage (V) high market
liquidity
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O#ITH A (implementation costs) : Y[ 4FE S5 U= a4 ~ S Y
BRI IR~ wx s 1 LRy AR 2 ALY ey 2 U ( capital
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Consider the one-factor APT. Assume that two portfolios, A and B,
are well-diversified. The betas of portfolios A and B are 1.0 and
1.5, respectively. The expected returns on portfolios A and B are

19% and 24%, respectively. Assuming no arbitrage opportunities
exist, the risk-free rate of return must to:

(A)4.0% (B)9.0%

(€)14.0% (D)16.5%

(E)None of the above. [ ok 4]
¢ ®:

E(R;))=R; +A,b;
19% =R; + A, x1

e AR =9% 0 A =10%
24% =R, + A, x1.5
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RSB —REEEERA - BRIEESIIREMES - MR EZMIEE
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¢ @
W, =-2> Wy=3
b; =-2x0.4+3x0.6=1
b, =-2x0.6+3x04=0
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E(R;)=R¢ +[E(R,,) —R;]xp;
=8%+[12% —8%]x1.2=12.8%

<~ APTHY S 5 )]

ER;) =2k +Ab;; +4,b,

12.8% = 8%+ 6%x 0.5 +10%xb., = b, = 0.18

@ ER,)=Ay + by + A,

=8%+6%x%0.6+10%x0=11.6%

E(R;)=R; +[ER,,)—R¢]xp;

11.6% = 8%+ (12% — 8%) x B, = B, = 0.9
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In a rational capital market, any systematic difference in the ex-
pected (average) returns of two securities must be a result of
different exposure of the securities to economic risks. Suppose

that all such risks are captured by a two-factor model. Their risk

premia are 3% and 6%, for factor 1 and 2, respectively. The T-bill

rate is 4%. Consider the following two securities:

E(ry)=r+0.2(F, —r)+1.2(F, -r;)

E(rg)=r+0.8(F,—r;)-0.4(F, —r)

©What are the expected returns of the securities? What are the
expected returns of the factors?

©You decide to invest $1,000 in security A and $3,000 in security
B. What is the expected return of the portfolio? Using the above
APT-relation, what are the factor loadings (sensitivities) of the
portfolio to both factors? When would you like to construct such
a portfolio-illustrate with a real-world example? [67 K84 ]

¢ OE(r,) =4%+0.2x3%+1.2x6% =11.8%
E(1y) = 4%+ 0.8%3% —0.4X 6% = 4%
F-1,=F-4%=3%=F=7%
E -1, =F —4%=6%=F, =10%



1. E(rP)Z%X11.8%+%X4%=5.95%
1 3
2. E(rp):ZE(rA)"'ZE(rB)
=i[rf +0.2(F —1,) +1.2(F, — ;)] +

%[rf +0.8(F, —1;) — 0.4(F, —1;)]
=1 +0.65(F, - 1;)
I F, 88 (7 50150.65 0 F, VAR (50150 o }z\r%, Vo ASBFLHTE Y
AR AR I BR[O A A
FVHE A (BT~ URE 7] 0 pobis o] SR Ry A (5
S IR SRR RS R -

3-6 rascapmeaapT  lalo

TIBREEAEEIEEMR (CAPM) REFIETEEHR (APT) tt

B2 Hut - [AERR ?

(MAPT 3R E E IR R Al L A Z E R & FEZ=AE - CAPMAIE
REEDERNEERE —EREERATE

(BTEEEIEREREF - APTR/EHE &= RN R FERE 2 2 H R D EC
if{Fz5% - MCAPMAIARREYE E RN KB EH R SELAE
RENED (ERETEAD)

OFEEEEEAIEP - APTABHMIBIREBSHEREIE » MCAPM
RIZBRE it ER S VAMMNIERZ L

DEFEIEEREESEAEEER N Z2—E454

EAPTRYEEM R HE EHE R ZR P A e R EMEREEE > ™
CAPMEYE B R ¥ B E I ERAN R h Rt el bk X 2= - Bl AT AR HE
g - (CEEIZ 2T

D ;

G é’é%?fiaﬁ?“ @ﬂ%fuﬁ* f%?i'ﬁ%d/— R ?*U?E‘f%’ﬁﬂﬂ £~

Jﬂg?c o




37 tmcaPMeAarT  1EN0

A LLECPAMKAPTIES - ENRUIREMHEE X L > EEE 718
A ? [Bdts - hEsS « ABMA - Jirhnk 4R e )

¢ OLLECAPMEIAPTIES :

1. % A& E3TE# K ¢ [l1Sharpe ~ Linter » Treynor » MossinZ™ * Hi [y
TR YR NS (CAPM) o gt [ 55 poAeyal f fosist]
eIl R AR ¢ AR IR 915
K AR A« R R R g
RIS R R R o [ 2R R e 53 5
e e DG R RHEPY - AR YR YR MR
IRLFRESS [ st o A B
ER)=R; +[ER,)-R;]xp;

1 BR,) = ST TP

E(R,,) =[fj i f P

B, = SVWEE S VE! M TR

R, =&t faF||=
S ZFSIPEER,,) — R ] ER [ R R P PRy R
S P T VR (T R ERREETS ] AR ST o FDRf TR b
P IR 55 e (. BRI PR MR 55 o ea
VRGP BRGNS - W RGPy - W S
R A VSR R TR IR A TR RSP T
oo



